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045 R ANE AL A P S 1) B 4 3, 38 3 5 R T B R — A A V0 AN [7) X sk it o 22 T
HHLCNN P R LIRS 0318 I8 A4 0K (1 B A 2 AE. CNIN IR b DB sk s VR D M BRI Rt
() — BB UL, LAAE A S TR i 0 35 RO 7K1 R AE B 2 — H I =M R i 2 A RLE
IR MM 22 AR 22 70, EAN T IR0 72 28 T I e A2 BN M AN Bt TPt AT B ARSI A R

B RV 00 N AR T3 N4ES0 T 2D BUR (9 i WL AT (1 B 18] 2 9138 8 7E 2D
FRERPEH] 2D PAZ S T —ZE (8] 52 51 (1 40 A% G5 5 I8 W AR (8] & AR A
— Y A% AE YRR, AT DA — i g RES K BREIHE . iR e e
RFALL G I 5%, P DAE DA A 1) TR0 255 52 PAY G5 G 1) B 8] e 971 47l 30 i 0 A% Sk A5 5 IR ARRAIE T 3
EAEA 4SRRI URFIE N T i 2

o) = o (b} + 2 [Zsil Kjr (P)ag (- p)]) (12

HohiRH o () FRAHEIL, o AL RALF RUR MR B HK Y 1R LR
HORSGEWST £ BB ZEL 1 2 E A RIS J, PLRUR IR K bY AR i 75
b B A T 543 ST T N B MR P A, B S .

a{*V(r)

FUD =1 - Layer (1+1)
A * SN
K L
1 [\iz
J y
% lal{T) -”F—,(T)
Ft =2
N Layer |
—T| _
. A
/\\ ,': K :‘JI v
B #* ”(1! I"(T)
' | |
F” U= 1| JII i ‘I"III\ -|"L II‘l
| A WS | Layer (I-1)
t
>
K5 CNN & & T

TEIE A% B FRE A 1 Dy — ARG I 8 oA R — SR Bt i s e il — N By 24
BREIEME—NS2NMRE S Z | — 1R T2 U R B 12
5 W 4 1 7 5] Bcdle 1) J2 IR SR s AEIXAN R R TR SR IR S22 3 DA SE il R 1K) 5 Ao i
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NIRZRH CNN CAEFE NN BMER  TE RT3 S 40 A4 T KR
M, 753X L 453k, e A1 1 28 AT M AR .

CNN 14 2 AE AR 1 23 [A) R AR PR R O, L 1 B 8 M 2 R A 3 P8 50 b vy
B OB ) 2 B B LS5 W B 6 Fros .l R A 1D-CNN JZ. BN JZ & Dropout JZ ]
HAEBE AT CNN A1 EA D 7 i 3006 RS s 17 I 2Rt 2. M 28 =4~ CNN
HAE N LETRIER S, B S ID-CNN |25 BN JZ2, PR T FEHUR 25 (A RHIE Ae % To 4%
136 25 i 2 AT I [A) R AIE 2 BRURE R ot 4 sk 2 A A G R AR (B 3 A7 )3 — AR AL B 32 = 1 I
28 TRV R0 B RN I 20k B2, TR 9k 2D 1 I 288 36k 1) 4 A0 BRI A St . Dropout 2 19 3 B I 3 — 2508
DT TUARRHIE, B o T R R A R

—HETE EtNEE
(1D-CNNE) (BNE) Dropout/Z

E 6 CNN 2844 &
432 LSTM EE

LSTM i 5 3 FR AR L2 W 25 (¥ — b, % 1T 4l 3R R 2% (K I P R ALE A3 IS
) 3 B A S Hetf BEAT AR A% Gt A P4 e 22 ) 288 38 5 — M IEAZ B e AT — AN SE IS B ok S
T FE 2 Al 22 70, X O HAR AL 7ok Bl ZH0IE1215 B L2 I S i P 2 4 A LL T2 4t
FIIEFR P22 I 2% LSTM i 1042 B8 o SR A7fi Al H A5 S8, T Ak 1o Tk 1) RO AR e
KA WL EE T T HLH]LSTM Sl 20 1 A0k 1 B SI e 2 o AT 8, 9F H
AL [T SR BB o 22 TR AS LSTM I8 I R S ik 2 an N\ 177 iy e 171 A0 B B 1] ok
L2 B IT M B AR ERAE LSTM C1Z 5.7 (¥ Y [ S h, A5 I 18] 45 S 0TI AT BRI 2R
U N

fi=0r(Wara, + Wyphy_q + Werco_q + by) (13)
¢t = f€—1 + o (Wycay + Wychy_q + b.) (14)
0r = 0o (Waos + Wyohi_1 + Weocr + by) (15)
he = o;op(cy) (16)

HAi, foofcearnl ATl EEIT T IANSZEBEE BB o, EATH R /NS & R
EHRME h FR/MEE RS o RoRIELER R a, KERLFTE ¢ B 22250
AWhis Wei, War, Whe, Wep, Wae, Wi, Wao, Wio T Wy NEUEREFE, N ARR S E S 5
BARREZ A KRR by, bg, b, 1 b, et 5. H -1 ARG IR ) 7] @l 2 1 K
iF 5 32 5 A 2 8 L A I B ASFFIE, LSTM VAR A BRI 2R r) i B4 AR %5 LSTM 1145
& 7 prs.
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THAS SRR T 4% )2 A% 2 3% 100 205 R AE R 1 — B0 N6 AR

KiE 2 G A B EER g — DA 2 KR HC AL 45 (LSTM) 244 11
WA EZ (BN 6. 7 2). 00T ARSI T A B T2 7 S K S AR RS 1 E b
) 7 B /0 R VR FE ) LSTM 38 V72, 5 25 B o 7 AR o 42 % ik 1] 2 51 s 25 2R AL 1)
HERLRE 7 AEREN )20 LSTM. J2 587 L 3 SRS A R HE 8 5 B 1) 13 1) o g A4
A BRI S 6 ERMNER T REASE 5 275 LR a5 K H g — i 1820 T B
BR,ZX—&itdE—2FE 7HADN I [A] 741 R S AR
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PR P42 11 4 P T AT TR B 2 SR (R v vk TR, PRAL S B A AT AL B Y I 25K
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A T2 T A2 M 45 2% DNN- HR 1 S 5080 51 BE O T 48 0 52 2 1 e ) 2 B AR
JZ(CNN) 5 K47 HA1EAZ 2 (LSTM) 20 & iX Se 2 J B3 T TN R T H 5 B 75 oK
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Step 1 KA UEYIIEILL = 03 44 FF - Y1125 PR D5ak B 160 5 A5 A e E 4 e A
B AL BRI — 1 M A
Step 2 iEARIREL =1 + 1;
Step 3 K Ao i N BB LT CNN-LSTM AL Hh 78 403 HURFAE, 340 th B4R P
Step 4 Wit 45— X7 y; - log PR B SHL A1 < LI Step2, 75 45 H{E I it
SO VR A BRI L IR G 1 A 2R I R Y
Step 5 45 T T 10 1 2 P35 40 MBS B L 4 T 8 A B AR A — 16 g
To;
Step 6 K Tofi N BFAH I ZAF IR G b It TIAR 2P = G (Ty);
B2 — M B PR T RS R b LR S0%KIE A FX14> 5 3748 X IRE f I 2R ae
I IF 2 20% [ 550 VR MR AE. 3L 5 VI ZRbi il (1 45 St I 8-13 .
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RGEEL =S K& NSRS

Accuracy 0.9682 0.9279 0.9236

Precision 0.9567 0.9096 0.9032
Recall 0.9550 0.9088 0.9030
F1 0.9546 0.9080 0.9017

HT R 4,CNN-LSTM HEAILE 5 YRAZ SCIGAIE 56 A2 AN A I A ~F 2 T 22 45
BB T 92%, 44 Recall 1 F1 730 BUERIE ] 1 90%, i B 1 AR Y H & B Ui Fie R S8 A8 T,
IR HELRE A a] DL R AR A ) B AR RS ) R AN S0 R R BE AN IR £ B
TR 5 AL, PR  25 2 TR
4.5 FIRHER B9 R

B S5 ) A () B (1) A 3t — 20 3 FH 1AL 1 1) 4 AR R 10 42 5256 N R B 147 4y
RS 8 SCIP) IR 26 R TN 2 2 TR A 114 o 12 28 e 1) b 1, YR A 5 A T A 0 9 DE 1)
AR R I ) AR I 2R 08 — AN B PEAN FE AR, e S i B 5 Hh Tl 1 At i B g AR
M, T 2088 o3 A AN I 1 At 0 oAt S8 ) A% Ot S e T 23 e vk S W, 1 A 55 T DA e ke H X6
FEEHE B FIHER S 0. 2> RV SE RS WM EL K gt 25 Ran il 14, B 15 B,
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(D BRI ENVE 1. S0 2. Bh1E 3. Bh1E 4. SO 12,70 580 R B i 0 i
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1k 4;
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M F
BRI EEIEF/XENAG

R HEE 248 Windows 10

1% YW FEiE = MATLAB,Python
EZ TR S

-l A EAE IR

RASTE R 1 BT BRETIER R E A IR

00 R TR J7 12

clc

clear

close all

%% 152 N

051 [ T EHE S SCA3 T A I FE xy z, B S xyz

excel J}?thlé:% '#####\20244éﬂr'iﬁﬁé %2024&@3?% TIF 58 A2 20 2 T AR e SR S0\ A B\ P 1\Person1\';
% A e B8 A%

excel J}?Ft%:% 202430 B 44 48 FE\2024 93] e 44 T 910 A B2 i A SR SR A% B0\A I\ B £ 1\Person2\';
% o

excel_path3= " '#####\20241] i 15 45 TE\2024 4581 B A BT 70 A R0 1 B 50 SRR A N\ 1\ Person3\';
% A JE B AR

path_listl = dir(strcat(excel pathl,*.xlsx"); %dir BEC 1 H 2457 H 5~ FrA SO ISR S0
path_list2 = dir(strcat(excel path2,*.xlIsx")); %dir PREL ZIH 41T H & T BrA SRS f S
path_list3 = dir(strcat(excel path3,*.xlIsx")); %dir PRAEL #1457 H % FArA 1 SO Je /e

list num = 60;
personldate = cell(list num,1);
person2date = cell(list num,1);
person3date = cell(list num,1);
for i=1:list numl
dpersonldate{i} = xlsread([excel pathl,path listl(i).name]);
en
for i=1:list num?2
dpersonZdate{i} = xlsread([excel path2,path list2(i).name]);
en
for i=1:list num3
dperson3date{i} = xlsread([excel path3,path list3(i).name]);
en

excel J}?thg: "\ 20248 B 8 A8 FE\2024 53] i 48 T 7T A8 B AR S R T N\A B\ [ 11:2\Persond4\';
Yo LA AR

path_list4 = dir(strcat(excel path4," xIsx"); %dir BREL F1|H Y9 HT H T ArE 1 SO R A

list num = 60;

personddate = cell(list num,1);

for i=1:list num
personddate{i} = xlIsread([excel path4,path list4(i).name]);

end

excel J}%tgg:% A2 0240 B 744 48 FE\2024 4] B 44 IF 70 A 205 i 1S 2R SE B0\ A R\ [} -2 \Person5\';
% A e

excel *%?Fﬂ;g_% ;#####\2024/&)%?’%%‘% FE\20244F 3 FE 44 IF 90 A 02 A 55 SR 2% WA\ B £ 2\Person6\';
%L AR

excel_path7= "#####\20243] B 44 44 FE\2024 18] 5 44 B 70 A2 2507 AR 5 ZE 48 80\A JB\ /- 2\Person7\';

% AR AT
path_listS = dir(strcat(excel_path5,* .xIsx")); %dir PREL %1 H 2477 H 3 T 7 SIS
path_list6 = dir(strcat(excel path6,* xlIsx')); %dir PREL FH 251 H 3% T A 7 SO F 4
path_list7 = dir(strcat(excel path7,*.xIsx")); %dir PREL #1H 45T H & FTA 1 308 I F1 54

list num = 60;
personSdate = cell(list num,1);
person6date = cell(list num,1);
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person7date = cell(list num,1);

for i=1:list num

personSdate{i} = xlIsread([excel path5,path list5(i).name]);
end

for i=1:list num

dperson6date{i} = xlsread([excel path6,path list6(i).name]);
en

for i=1:list num

dperson7date{i} = xlsread([excel path7,path list7(i).name]);
en

excel J}?Ft}£= "\ 202418 B 78 48 FE\2024 58 W) i 48 T 9T A8 B i AR SE AR TR N\A B\ [ 112\ Persond4\';
% A2 A7
excel_pathO= '#####\ 202431 15 19 $E\20244F38] i 49 BT 70 AL B0 I B S 9%
%o A I AT
excel _pat}lql gz g'#####\zozmﬂ A 4 44 FE\2024 981 e 44 TF 70 A 2502 AR 5 FE 2 \A R\ [ 442\ Person6\
. % e
path_list8 = dir(strcat(excel path8,'*.xlIsx")); %dir PREL FH B 3% T A F XA f 4
path_list9 = dir(strcat(excel path9,* xIsx")); %dir PREL #2477 H 3 A 7 ORI RS
path_list10 = dir(strcat(excel_path10,* xlsx")); %dir FRAEL #1481 B 3¢ F A 5 SO e R e A
list num = 60;
person8date = cell(list num,1);
person9date = cell(list num,1);
personlOdate = cell(list num,1);
for i=1:list num

person8date{i} = xlIsread([excel path8,path list8(i).name]);
end
for i=1:list num

dperson9date{i} = xlsread([excel path9,path list9(i).name]);
en
for i=1:list num

dpersonlOdate{i} = xlsread([excel pathl0,path list10(i).name]);
en
excel_pathl1=" ‘#2024 F 49 71 T8\ 2024531 49 BT FU A B2 i I 55 98
S %R ERAT
excel_pathl12="HHHH#A2024751 FE 44 44 FE\20244F 1 7 44 W 70 A= B2 B S SR 36 N\A R\ £4:2\Person 12

=7
U 5,

FER\A G\ 4-2\Person5\';

FER\A R\ 4-2\Person11

S %IRRT
excel_path13=‘#H#H##\202415] 5 45 44 FE\20244F 151 5 44 BF 70 A B0 AR
S %IRRT
path_list11 = dir(strcat(excel pathl1,*.xlsx")); %dir B&EC #1457 H % N FrA SO IR S
path_list12 = dir(strcat(excel path12,"* xlsx")); %dir B&AEL FH 481 H & A 7 I /e
path_list13 = dir(strcat(excel path13,*.xlsx")); %dir BRI FH T H SR TR TSR A S A
list num = 60;
personlldate = cell(list num,1);
personl2date = cell(list num,1);
personl3date = cell(list num,1);
for i=1:list num
dpersonlldate{i} = xlsread([excel pathll,path listl1(i).name]);
en
for i=1:list num
dpersoandate{i} = xlsread([excel pathl2,path list12(i).name]);
en
for i=1:list num
dpersonlSdate{i} = xlsread([excel pathl3,path listl3(i).name]);
en

%%

class out = cell(60,1);

path list = path listl3;

for i = L:list_num %X T—AN N[0 MK HE 217 752K
flag = 0;
persondate = personl3date{i}; %%t AN KHE AT 4 K b B
filer out = IIRfilter(persondate(:,1));% & Ab#i
size temp = size(filer out);
mean_x = mean(filer_out); %K 318
var x = var(filer_out);%>K 7 %

if mean x < 0 % FIJE/NTORIHL 2 B

FEFE T\A B\ F2\Person13
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class out{i,l} = ath list(1).name;%
%lass out{i,2} =
20 = 1
elseif var x >O 5 %ﬁ?éj(?o ST Ht 2 P E Bk
outfft = var(plot fft(filer out));
if outfft<0.005
class out{i,1} = path list(i).name;%
class out{i,2} = 6;
flag = 1;
else
class out{i,1} = path list(i).name;%
class out{12} 7;
flag =
end
end

if flag ==
continue;
end

%ﬁﬁ%f
= 0;
length(ﬁler out);
for j = 1N
q sk = sk + (filer out(j) - mean(filer out))"3;
en
SK = (N*sk)/((N-1)*(N-2)*var(filer out)"2);

%iJr%m%flE e
n=1;
for j = 2:N-1
if filer out(j)>filer out(j-1) && filer out(j)<filer out(j+1)
peak(n) = filer out(j);
n =n +1;
end
endk dian(peak):
ak x = median(peak);
%l‘l’%*ﬁ%x
filer outx = IIRfilter(persondate(:,1)); % Ab H
filer . outy = IIRfilter(persondate(:,2)); %o i€ AL EH

rxyl = 0;
rxy2 = 0;
rxy3 = 0;
for j= T:N
rxyl = rxyl + (filer outx(j) - mean(filer outx))*(filer outy(j) - mean(filer outy));
rxy2 = rxy2 + (filer outx(j) - mean(filer outx))*(filer outx(j) - mean(filer outx));
q rxy3 = rxy3 + (filer outy(j) - mean(filer outy))*(filer outy(j) - mean(filer outy));
en
RXY = rxyl/sqrt(rxy2*sqrt(rxy3));
if SK<-20
if peak x<0.5
if RXY>0.5
class out{i,1} = path list(i).name;%
class out{i,2} = 11;
else
class out{i,1} = path list(i).name;%
class out{i,2} = 12;
end
else
if RXY>0.25
class out{i,1} = path list(i).name;%
class out{i,2} = 8§;
else
class out{i,1} = path list(i).name;%
class out{i,2} = 9;
end
end
else
if peak x<0.89
if RXY<-0.5

class out{i,1} = path list(i).name;%
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class out{1,2} 1;
elseif RXY<-0.5
class out{i,1} = path list(i).name;%
class out{i,2} = 2;
else
class out{i,1} = path list(i).name;%
class out{i,2} = 3;

end
else
if RXY<1.25
class out{i,1} = path list(i).name;%
class out{i,2} = 4;
else
class out{i,1} = path list(i).name;%
class out{i,2} = 5;
end
end

end
end

ARAGTE B 2 YB IR A BR B R

function [output] = IIRfilter(input)
%UNTITLEDS URFRETIE S &3
% AL SR TR

fs = 100; % FFEAHR

X = input;
t = 0:1:size(input)-1;
t = t/fs;

fc_low = 10; % fREILSIR
fc_high = 7; % R

N = 7; % EFE M

[b, a] = butter(N, fc_low/(fs/2), 'low"); % THHEARIEIEN 4% ZEL
% [b, a] = butter(N, [fc_low/(fs/2), fc_high/(fs/2)], 'bandpass'); % 5 il ek 2% R4k
% [b, a] = butter(N, fc_high/(fs/2), 'high'); % 15w i@ 8% 2%

% A% FH PO e U g S S AT IE
y = filter(b, a, x);

% il RaaME S Mg R NE S
% figure;

% subplot(2,1,1);

% plot(t, x);

% title(JRUH1E 5);

% xlabel('t/s");

% ylabel("lE1E");

%
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% subplot(2,1,2);
% plot(t, y);

% title("JEWLIE T,
% xlabel('t/s");

% ylabel('l&{H");
output = y;

end

RADTE B 3 B2 e bR FAs B

function [output] = plot_fft(input)
Fs = 100; % KAEHIZ (Hz)

length(input)
t = 0:1:length(input)-1; % B8] [ =
t = t*0.01;

% THHFFT
N = length(input); % 155K &
X = fft(input); % R {# B IH-AF

o THEXGAARTE 1) 5
P2 = abs(X/N);

o THELHILSE R L
P1 = P2(1:N/2+1);
P1(2:end-1) = 2*P1(2:end-1);

o 5E Sl
f = Fs*(0:(N/2))/N;

/0255 i B30 M FEE A0
% figure

% plot(f, P1)

%% title("FLIJ IR FESIE")
% xlabel(SiZ% (Hz)')
% ylabel('|P1(f)|")
output = P1;

end
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ARALFEE 4 CNN-LSTM AR £ 4y

build model(
input_shape: Tuple[ ]=( ), output_dim: int = Ir:
) -> Model:
model = Sequential()
model.add(Conv2D( ) =input_shape))
model.add(Activation( )
model.add(Conv2D( )
model.add(Activation(
model.add(Conv2D( )
model.add(Activation(
model.add(Conv2D( )
model.add(Activation(
model.add(Reshape((
model.add(LSTM(
model.add(Dropout( =
model.add(LSTM( = )
model.add(Dropout( =1))
model.add(Dense(output dim))
model.add(Activation( )]
model.compile(
= =optimizers.Adam(lr=Ir)

]

model

RIEEH 5 RS wALH

preprocess raw data for new(scaler):
X all = np.array([])
y_all=[]
data num =
data num_ for one =
data num_ for k=
start =

1 (data_num):

' (1,data num_ for one+l):

k (1,data_num_for k+1):
str_for xlIs ="a"+str(j)+"t"+str(k)+
data_raw = os.path.join(DATA DIR

+str(start)+"/"+str_for xIs)
df = pd.read_excel(data_raw =
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acc_raw = df.iloc[:,:3]

gyro_raw = df.iloc[:,3:6]

acc_raw = scale(acc_raw =scaler)
gyro_raw = scale(gyro raw =scaler)
tAccXYZ = preprocess_signal(acc_raw)

tBodyGyroXYZ = preprocess_signal(gyro_raw)
features = np.zeros((len(tAccXYZ) ))

z (len(tAccXYZ2)):
feature = pd.DataFrame(
np.concatenate((tAccXYZ[z]

=
)

features[z] = feature
y_all.append(j-1)

(X all)==
X _all = features

X _all = np.vstack((X_all, features))
(start)

start +=
y_all = np.array(y_all)

X train, X test,y train,y test = train test split(X all, y all
- =42)

y_train = np.array(y_train)

y_test = np.array(y_test)

X train = X _train.reshape(X train.shape[0], X train.shape[1]

X test =X test.reshape(X test.shape[0], X test.shape[]] )
( X_train.shape y_train.shape)
( X test.shape y_test.shape)

X train, X test, y train

RigE#E 5 MEZ5RIE

CUR_DIR = os.path.dirname(os.path.abspath(__ file ))

EXEC TIME =
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datetime.now().strftime( )
LOG _DIR = os.path.join(CUR _DIR EXEC TIME}")
os.makedirs(LOG_DIR =

formatter =

basicConfig( ={"{LOG_DIR}/{EXEC TIME
=formatter)

mpl_logger = getLogger( )

mpl logger.setLevel( WARNING)

getLogger().addHandler(StreamHandler(sys.stdout))

logger = getLogger(  name )
logger.setLevel(DEBUGQG)
logger.debug(f"{LOG DIR}/{EXEC TIME )

X train, X test, y train, y test, label2act, act2label = load raw data()

logger.debug(f"{X train.shape=} {X test.shape=}")
logger.debug(f"{y train.shape=} {y test.shape=}")
(y_train.flatten())
check class balance(y_train.flatten(), y test.flatten() =label2act)

n_splits =
cv = StratifiedKFold( =n_splits =
valid preds = np.zeros((X train.shape[0], 12))
test preds = np.zeros((n_splits, X _test.shape[0], 12))
models = []
scores: Dict[str, Dict[str, List{Any]]] = {

' gl gl
gl gl
gl gl

(os.path.join(CUR_DIR
dcl params = json.load(f)[
logger.debug(f"{dcl params=}")

y test = keras.utils.to categorical(y test, 12)

fold id, (train index, valid index) (cv.split(X train, y train)):
X tr=X train[train_index, :]
X val =X train[valid index, :]
y_tr=y train[train_index]




y_val =y train[valid index]

y_tr = keras.utils.to_categorical(y_tr, 12)
y_val = keras.utils.to categorical(y val, 12)

logger.debug(f"{X tr.shape=} {X val.shape=} {X test.shape=}")
logger.debug(f"{y tr.shape=} {y val.shape=} {y test.shape=}")

pred_tr, pred val, pred test, model = train_and predict(
LOG DIR, fold id, X tr, X val, X test,y tr,y val, dcl params

)
models.append(model)

valid preds[valid index] = pred val
test preds[fold id] = pred test

pred, X, y, mode (
[pred tr, pred val, pred test], [X tr, X val, X test], [y tr,y val

y_test], [ ]
):
loss, acc = model.evaluate(X, y
pred = pred.argmax(axis=1)
y = y.argmax(axis=l)
scores| ][mode].append(loss)
scores| ][mode].append(acc)
scores| ][mode].append(precision_score(y, pred

)

scores| ][mode].append(recall score(y, pred

)
scores["f1"][mode].append(f1 score(y, pred =
scores| ][mode].append(confusion_matrix(y, pred

)
scores| ][mode].append(f1_score(y, pred

))

logger.debug(
mode in [
logger.debug( mode
metric in [ Ik
logger.debug(f" {metric}={round(np.mean(scores[met-
ric][mode]))}")

class fl1 mat = scores| ][mode]
class fl result= {}
class id (12):
mean class fl =np.mean([class fl mat[i][class id]
(n_splits)])
class fl result[label2act[class id]] = mean class fl
logger.debug( round(class fl result)}")




logger.debug(
test pred = np.mean(test preds =0).argmax(

y_test =y test.argmax( =1)
logger.debug( accuracy_score(y_test, test pred)}")
logger.debug( precision_score(y_test, test pred
)i")
er.debug( recall score(y test, test pred
r.debug( f1 score(y_test, test pred =
logger.debug( fl score(y test, test pred

plot_confusion matrix(
=scores| ]

=[

="{LOG DIR

np.save(f" {LOG_DIR valid_preds)
np.save(f"{LOG_ DIR np.mean(test preds
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